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QUESTION 1

An integration developer is designing an XML map and must transform the first two address lines from the source to the
addressLine1 and addressLine2 elements in the target. The source address lines are defined in an array called
"addressLines". Which of the following would be the most appropriate way to perform the transformation? 

A. Move from addressLines to addressLine1 and set the Input array indices to 0Move from addressLines to
addressLine2 and set the Input array indices to 1 

B. Move from addressLines to addressLine1 and set the Input array indices to 1Move from addressLines to
addressLine2 and set the Input array indices to 2 

C. For each from addressLines to addressLine1 and set the Input array indices to 0For each from addressLines to
addressLine2 and set the Input array indices to 1 

D. For each from addressLines to addressLine1 and set the Input array indices to 1For each from addressLines to
addressLine2 and set the Input array indices to 2 

Correct Answer: B 

 

QUESTION 2

Which component type must an integration solution developer define for a non-SCA component such as a Servlet that
invokes a service component interface? 

A. Export 

B. Import 

C. Mediation flow 

D. Stand-alone reference 

Correct Answer: D 

 

QUESTION 3

An integration developer is creating a test configuration using the integration test client (ITC). Which of the following
statements are applicable to the test configuration? 

A. Test configuration is used to control a unit test. 

B. Test bucket can be customized for a specific test case. 

C. Test bucket configuration is used to customize and control a component test. 

D. The integration developer can create only one test bucket configuration. 

E. The integration developer can save one open test configuration per test configuration. 

Correct Answer: AC 
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QUESTION 4

An integration developer is developing a mediation module that contains MQ Export bindings. The application will need
to be deployed to several different runtime environments and platforms during the test and production phases of the
development. In each of the environments, the names of the MQ Queue managers and Queues that the application will
need to use are subject to repeated change. What is the BEST practice to implement this solution? 

A. Use EJBDeploy to update the binding details in the EAR file before deploying it. 

B. Configure the application to load a properties file during startup containing the binding details. 

C. During development, define the various MQ Bindings via a JNDI name and remap them as required on each of the
runtime environments. 

D. During development, define the various MQ Bindings via a WebSphere Variable and remap them as required on
each of the runtime environments. 

Correct Answer: C 

 

QUESTION 5

An integration developer has designed a mediation module with one import, one export, and one mediation flow
component. What would be a valid way to wire the nodes together in the Assembly Diagram editor? 

A. Wire from a partner reference of the mediation flow component to the import and wire from a partner reference of the
mediation flow component to the export. 

B. Wire from the export to an interface of the mediation flow component and wire from a partner reference of the
mediation flow component to the import. 

C. Wire from the export to an interface of the mediation flow component and wire from an interface of the mediation flow
component to the import. 

D. Wire from the import to an interface of the mediation flow component and wire from a partner reference of the
mediation flow component to the export. 

Correct Answer: B 
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